
 

    WINCH MOUNT INSTRUCTIONS 

      02-08 YAMAHA GRIZZLY 660 

               

 

 

Temporarily remove the top bolts that hold the 

front plastic guard in place. 

 

Install the winch mount behind the front bumper and on the inside of the frame tabs and align the holes in the 

winch mount plate with the holes in the end of the frame tubes.  Install the 5/16 x 3/4 hex bolts and washers 

down through the winch mount then the frame tabs and install with the 5/16 nylock nuts.  Now install the 

8mm x 25mm hex bolts through the lower bumper tube then through the winch mount plate and into the 

frame tube ends. 

 

Install the winch to plate with hardware provided with winch.  The cable should come of the top of the spool 

to relieve stress on the cable 

 

Install fairlead with hardware provided with winch and wire to there instruction. 

 

 

 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616  ( 7:00 to 4:30 CST )                                              INST1546 

ITEM QTY. PART# DESCRIPTION

1 1 1546-1 Main Winch Plate

2 2 HDW2050 5/16 x 3/4 Hex Bolt

3 2 HDW9002 5/16 Flat Washer

4 2 HDW1054 8mm x 25mm Hex Bolt

5 2 HDW7058 5/16 Nylock Nut


